### **AVERAGE SUCCESSFUL BIDS - November 18, 2013**

Clark County Forest

Species/Type	Vol	ume	Weighted	d Average	Hi	gh	Le	ow
Species/Type	tons	cords	per ton	per cord	per ton	per cord	per ton	per cord
Aspen Pulp	5617	2496	\$17.55	\$39. <i>4</i> 8	\$20.28	\$45.63	\$7.51	\$16.90
Aspen Bolts	460	204	\$20.11	\$45.24	\$28.48	\$64.08	\$12.60	\$28.35
Oak Pulp	7075	2573	\$12.40 <i>\$34.10</i>		\$20.28	\$55.77	\$6.45	\$17.74
Oak Bolts	3405	1238	\$27.56	\$75.79	\$65.00	\$178.75	\$10.54	\$28.99
Mixed Hardwood Pulp	7341	3192	\$17.36	\$39.92	\$22.00	\$50.60	\$2.00	\$4.60
Birch Pulp	0	0	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
Basswood Pulp	40	21	\$4.00	<i>\$7.7</i> 2	\$4.00	\$7.72	\$4.00	\$7.72
Mixed Hardwood Bolts	895	389	\$23.50	\$54.05	\$35.00	\$80.50	\$12.60	\$28.98
Jack Pine Pulp	350	164	\$18.37	\$39.14	\$22.17	\$47.22	\$15.00	\$31.95
Red Pine Pulp	760	338	\$22.38	\$50.36	\$22.38	\$50.36	\$22.38	\$50.36
White Pine Pulp	243	116	\$17.41	\$36.55	\$23.90	\$50.19	\$5.00	\$10.50
Red Pine Comingled	16240	7218	\$36.81	\$82.83	\$41.25	\$92.81	\$22.17	\$49.88
White Pine Comingled	3620	1724	\$28.17	\$59.16	\$38.99	\$81.88	\$18.00	\$37.80
Red Oak Sawlog	42	1.7	\$45	2.94	\$62	0.00	\$26	0.00
White Oak Sawlog	303.9		\$313.55		\$45	0.00	\$16	0.00
Black Oak Sawlog	214.9		\$214.44		\$235.00		\$110.00	
Red Maple Sawlog	81.86		\$244.54		\$450.00		\$120.00	
Sugar Maple Sawlog	(	0	\$0.00		\$0.00		\$0.00	
Mixed Hardwood Sawlog	3	80	\$26	5.80	\$33	8.00	\$33	8.00
Red Pine Sawlogs	,	5	\$12	0.00	\$12	0.00	\$12	0.00
White Pine Sawlogs	26	.98	\$14	8.91	\$20	0.00	\$12	0.00

### CLARK COUNTY FOREST

Tract	Numbe	er of Bids				
Number	Qualified	Non-Qualified	High Bidder	Appraised Value	Bid Value	
1-13	2	0	Ule Logging	\$ 11,519.80	\$ 16,473.00	
27-13	1	0	DeBoth Bros. Logging	\$ 12,938.00	\$ 19,665.20	
28-13	0	0	-	\$ 27,406.25	-	
29-13	5	0	DeBoth Bros. Logging	\$ 32,420.00	\$ 51,806.80	
30-13	0	0	-	\$ 10,239.80	-	
31-13	4	0	Tigerton Lumber	\$ 38,300.50	\$ 57,287.50	
32-13	2	0	Kron Logging	\$ 20,773.10	\$ 28,616.50	
33-13	2	0	Lambert Forest Products	\$ 44,825.70	\$ 51,904.20	
34-13	0	0	-	\$ 12,322.40	-	
35-13	0	0	-	\$ 16,985.20	-	
36-13	6	0	Twin Forest Products, LLC	\$ 31,809.95	\$ 62,083.75	
37-13	7	0	Tlusty Logging	\$ 38,736.65	\$ 67,185.00	
38-13	6	0	Tigerton Lumber	\$ 9,250.50	\$ 14,665.00	
39-13	7	0	Tlusty Logging	\$ 19,720.00	\$ 43,236.00	
40-13	2	0	Bergman Logging LLC	\$ 23,312.80	\$ 25,638.00	
41-13	5	0	Tlusty Logging	\$ 51,187.50	\$ 67,762.50	
42-13	7	0	Biewer WI Sawmill	\$ 35,097.50	\$ 53,598.40	
43-13	6	1	Tigerton Lumber	\$ 24,562.20	\$ 42,920.00	
44-13	3	0	Kron Logging	\$ 13,401.90	\$ 15,426.45	
45-13	5	1	Bergman Logging LLC	\$ 69,272.50	\$ 94,462.50	
46-13	6	0	Theodore Strzok Logging	\$ 174,070.30	\$ 221,145.30	
47-13	5	0	Bergman Logging LLC	\$ 60,610.95	\$ 93,338.50	
48-13	1	0	Theodore Strzok Logging	\$ 24,665.05	\$ 31,561.20	
49-13	2	0	Bergman Logging LLC	\$ 49,646.20	\$ 78,085.00	
50-13	1	1	Ule Logging	\$ 39,599.30	\$ 61,790.00	
51-13	1	0	Tlusty Logging	\$ 27,185.10	\$ 53,645.00	
52-13	5	0	Wiitala & Vozka Logging LLC	\$ 28,138.80	\$ 38,185.00	
53-13	3	0	Wiitala & Vozka Logging LLC	\$ 57,610.03	\$ 63,191.90	
54-13*	7	2	Twin Forest Products, LLC*	\$ 44,353.32	\$ 78,445.80	
55-13	7	0	Bergman Logging LLC	\$ 50,885.00	\$ 82,134.50	
56-13	2	0	Kron Logging	\$ 14,779.50	\$ 18,827.80	
Totals	110	5		\$ 1,115,625.80	\$ 1,533,080.80	

<sup>\*</sup>lump sum

Number of Tracts Offered	31
Number of Tracts Receiving Bids	27
Number of Tracts with Qualifying Bids	27
Number of Tracts with No Bids	4

Total Number of Bids	115
Total Number of Qualifying Bids	110
Avg. Number of Qualifying Bids Per Tract	4.1

Total Appraised Value of Tracts Sold	\$ 1,048,672.15
Total Bid Value of Tracts Sold	\$ 1,533,080.80
Percent Increase Over Appraised Value	46%

Cord Equivalent Volume Sold	22062
Average Cord Equivalent/Sold Tract	817
Average \$ per Cord Equivalent Sold	\$ 69.49

Acres Sold	1373
Average Acreage of Sold Tracts	51
Average \$ per Acre Sold	\$ 1,116.59



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456







FSC 100%

### **Bid Comparison Report**

Tract: **1-13** 

Ule Logging

Inc	
Ule Logging	DeBoth
	Bros.
Inc	Logging

1.5 120.000 2 120.000

DeBoth Bros. Logging

1.5 120.000

20T-A 20T-M 20T-O 10-OR 10-0 10-MR 10-PR 10-P

570 13.330 Bid Total:

13,343.90

70 13.330 5 260.000 2 160.000 2 120.000 2 120.000

1,300.00 933.10

320.00 240.00 240.00 180.00

13.330

2,532.70 7,598.10

> 20T-M 20T-O 10-OR 10-0 10-MR 10-PR 10-P

3,249.00

70 17.100 5 260.000 2 160.000 2 120.000

1,197.00

1,300.00

240.00

240.00 180.00

320.00

570 17.100 190 17.100

Bid Total:

16,473.00 9,747.00

DeBoth	00
DeBoth Bros. Logging	00
ing	

13,343.90 16,473.00 **✓** 



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN









54456

## **Bid Comparison Report**

Tract: **27-13** 

DeBoth Bros. Logging

DeBoth Bros. Logging

3 120.000 3 120.000 2 120.000

20T-A

790 18.520 220 18.520

14,630.80 19,665.20

4,074.40 240.00 360.00 360.00 Inc \_

Bid Total:

10-MR 10-PR 10-P

20T-M

19,665.20



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN







### 54456

## **Bid Comparison Report**

Tract: **29-13** 

7 1	Joe Weyer	Ule Logging	B & M LOGGING	DeBoth Bros. Logging	
	44,932.00	45,107.00	49,111.30	<b>51,806.80 ✓</b>	

49,111.30	Bid Total:		44,932.00	Bid Total:		43,382.50	Bid Total:		45,107.00	Bid Total:		51,806.80	Bid Total:	
28,095.00	1500 18.730	20T-A	96.00	0.8 120.000	10-BA	24,000.00	1500 16.000	20T-A	26,250.00	1500 17.500	20T-A	30,420.00	1500 20.280	20T-A
3,371.40	180 18.730	15T-A	348.00	2.9 120.000	10-P	2,880.00	180 16.000	15T-A	3,150.00	180 17.500	15T-A	3,650.40	180 20.280	15T-A
698.40	80 8.730	20T-O	24,000.00	1500 16.000		1,280.00	80 16.000	20T-O	1,400.00	80 17.500	20T-O	1,622.40	80 20.280	20T-O
11,272.80	560 20.130	20T-M	4,320.00	180 24.000	15T-A	8,960.00	560 16.000	20T-M	9,800.00	560 17.500	20T-M	11,356.80	560 20.280	20T-M
1,811.70	90 20.130	15T-H	880.00	80 11.000	20T-O	1,440.00	90 16.000	15T-H	1,575.00	90 17.500	15T-H	1,825.20	90 20.280	15T-H
1,080.00	3.6 300.000	10-OR	10,640.00	560 19.000	20T-M	1,260.00	3.6 350.000	10-OR	936.00	3.6 260.000	10-OR	936.00	3.6 260.000	10-OR
296.00	1.6 185.000	10-0	2,160.00	90 24.000	15T-H	400.00	1.6 250.000	10-0	256.00	1.6 160.000	10-0	256.00	1.6 160.000	10-0
1,443.00	7.8 185.000	10-MR	936.00	3.6 260.000	10-OR	1,950.00	7.8 250.000	10-MR	936.00	7.8 120.000	10-MR	936.00	7.8 120.000	10-MR
555.00	3 185.000	10-AS	256.00	1.6 160.000	10-0	750.00	3 250.000	10-AS	360.00	3 120.000	10-AS	360.00	3 120.000	10-AS
140.00	0.8 175.000	10-BA	936.00	7.8 120.000	10-MR	100.00	0.8 125.000	10-BA	96.00	0.8 120.000	10-BA	96.00	0.8 120.000	10-BA
348.00	2.9 120.000	10-P	360.00	3 120.000	10-AS	362.50	2.9 125.000	10-P	348.00	2.9 120.000	10-P	348.00	2.9 120.000	10-P
Inc	GGING	B & M LOGGING	Inc		Joe Weyer	Inc _	Dairyland Forest Prod.	Dairyland	Inc	Ğ	Ule Logging	Inc	DeBoth Bros. Logging	DeBoth E
				43,382.50					est Prod.	Dairyland Forest Prod	Dai		2	
				44,932.00						Joe Weyer	Joe			
				45,107.00						Ule Logging	Ule			
				49,111.30					NG	B & M LOGGING	B &			
									1					



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456







## **Bid Comparison Report**

TIGERTON LUMBER Tract: **31-13** 

57,287.50 **~** 

20T-A	15T-A	20T-O	15T-0	20T-M	20T-P	10-OR	10-0	10-P	Krizan Tr			
160	70	500	260	350	20	57.5	20.5	7	ucking			
7.000	25.000	7.000	24.000	11.000	11.000	337.000	260.000	120.000				
1,120.00	1,750.00	3,500.00	6,240.00	3,850.00	220.00	19,377.50	5,330.00	840.00	Inc			
20T-A	15T-A	20T-O	15T-O	20T-M	20T-P	10-OR	10-0	10-P	TIGERT	ᅐ	Z	C
160	70	500	260	350	20	57.5	20.5	7	ON LUN	izan	SRI	ountr
12.000	23.000	10.000	38.000	19.000	17.000	450.000	225.000	200.000	/BER	Truckir	HWES-	y Fores
1,920.00	1,610.00	5,000.00	9,880.00	6,650.00	340.00	25,875.00	4,612.50	1,400.00	Inc		T HARD\	Country Forest Products
20T-A	15T-A	20T-O	15T-O	20T-M	20T-P	10-OR	10-0	10-P	Country		VOOD	Ŝ
160	70	500	260	350	20	57.5	20.5	7	Forest F		SINC	
13.000	17.000	7.000	15.000	13.000	13.000	410.000	205.000	120.000	roducts		Ċ	
2,080.00	1,190.00	3,500.00	3,900.00	4,550.00	260.00	23,575.00	4,202.50	840.00	Inc			
20T-A	15T-A	20T-0	15T-O	20T-M	20T-P	10-OR	10-0	10-P	NORTH\			
160	70	500	260	350	20	57.5	20.5	7	VEST H	42,	43,	44,
14.500	24.500	7.000	24.000	13.000	16.000	325.000	235.000	150.000	<b>HARDWOC</b>	227.50	200.00	44,097.50
2,320.00	1,715.00	3,500.00	6,240.00	4,550.00	320.00	18,687.50	4,817.50	1,050.00	DS Inc			
	160 7.000 1,120.00 20T-A 160 12.000 1,920.00 20T-A 160 13.000 2,080.00 20T-A 160 14.500	70 25.000 1,750.00 15T-A 70 23.000 1,610.00 15T-A 70 17.000 1,190.00 15T-A 70 24.500 160 7.000 1,120.00 20T-A 160 12.000 1,920.00 20T-A 160 13.000 2,080.00 20T-A 160 14.500	500 7.000 3,500.00 20T-O 500 10.000 5,000.00 20T-O 500 7.000 3,500.00 20T-O 500 7.00	260         24.000         6,240.00         15T-O         260         38.000         9,880.00         15T-O         260         15T-O         260         24.000           500         7.000         3,500.00         20T-O         500         1,000         20T-O         500         7.000         3,500.00         20T-O         500         7.000           70         25.000         1,750.00         15T-A         70         23.000         1,610.00         15T-A         70         17.000         1,190.00         15T-A         70         24.500           160         7.000         1,120.00         20T-A         160         12.000         1,920.00         20T-A         160         13.000         2,080.00         20T-A         160         14.500	350         11.000         3,850.00         20T-M         350         19.000         6,650.00         20T-M         350         13.000         4,550.00         20T-M         350         13.000           260         24.000         6,240.00         15T-O         260         38.000         9,880.00         15T-O         260         15.000         3,900.00         15T-O         260         24.000           500         7.000         3,500.00         20T-O         500         1,000.00         20T-O         500         7.000         3,500.00         20T-O         500         7.000           70         25.000         1,750.00         15T-A         70         23.000         1,610.00         15T-A         70         17.000         1,190.00         20T-A         160         14.500	20         11.000         220.00         20T-P         20         17.000         340.00         20T-P         20         13.000         260.00         20T-P         20         16.000           350         11.000         3,850.00         20T-M         350         19.000         6,650.00         20T-M         350         13.000         4,550.00         20T-M         350         13.000           260         24.000         6,240.00         15T-O         260         38.000         9,880.00         15T-O         260         15.000         3,900.00         15T-O         260         24.000           500         7,000         3,500.00         20T-O         500         1,000         5,000.00         20T-O         500         7,000         3,500.00         20T-O         500         7,000           70         25.000         1,750.00         15T-A         70         23.000         1,610.00         15T-A         70         17.000         1,190.00         20T-A         160         14.500	57.5         337.000         19,377.50         10-OR         57.5         450.000         25,875.00         10-OR         57.5         325.000           20         11.000         220.00         20T-P         20         17.000         340.00         20T-P         20         16.000           350         11.000         3,850.00         20T-M         350         19.000         6,650.00         20T-M         350         13.000         260.00         20T-M         350         13.000           260         24.000         6,240.00         15T-O         260         38.000         9,880.00         15T-O         260         15.000         3,500.00         20T-M         350         7.000         3,500.00         20T-O         500         7.000         3,500.00         20T-O         500         7.000         3,500.00         20T-O         500         7.000         3,500.00         20T-O         500         7.000         3,500.00         20T-A         70         24,500           70         25.000         1,750.00         15T-A         70         23.000         1,610.00         15T-A         70         70.00         3,500.00         20T-A         160         14,500	20.5         260.000         5,330.00         10-O         20.5         225.000         4,612.50         10-O         20.5         235.000         10-O         20.5         235.000         10-O         20.5         235.000         10-O         20.5         235.000         20.5         20.00         20.5         20.5         20.00         20.5         20.00         20.5         20.00         20.5         20.00         20.5         20.00         20.5         20.00         20.5         20.00         20.5         20.00         20.5         20.00         20.5         20.00         20.5 </td <td>7 120.000         840.00         10-P         7 200.000         1,400.00         10-P         7 120.000         840.00         10-P         7 150.000           20.5 260.000         5,330.00         10-O         20.5 225.000         4,612.50         10-O         20.5 205.000         4,202.50         10-O         20.5 235.000           57.5 37.000         19,377.50         10-OR         57.5 450.000         25,875.00         10-OR         57.5 410.000         23,575.00         10-OR         57.5 325.000           20 11.000         220.00         20T-P         20 17.000         340.00         20T-P         20 13.000         260.00         20T-P         20 16.000           350 11.000         3,850.00         20T-M         350 19.000         6,650.00         20T-M         350 13.000         20T-M         <t< td=""><td>100         TIGERTON LUMBER         Inc □         Country Forest Products         Inc □         NORTHWEST HARDWOO           120.000         840.00         10-P         7 200.000         1,400.00         10-P         7 120.000         840.00         10-P         7 150.000           260.000         5,330.00         10-O         20.5 225.000         4,612.50         10-O         20.5 205.000         4,202.50         10-O         20.5 235.000           337.000         19,377.50         10-OR         57.5 450.000         25,875.00         10-OR         57.5 410.000         23,575.00         10-OR         57.5 325.000           11.000         220.00         20T-P         20         17.000         340.00         20T-P         20         13.000         260.00         20T-P         20         16.000           11.000         3,850.00         20T-M         350         19.000         6,650.00         20T-M         350         13.000         20T-M         350         13.000           24.000         6,240.00         15T-O         260         38.000         9,880.00         15T-O         260         1,500.0         20T-O         500         7.000           25.000         1,750.00         15T-A         70</td><td>Krizan Trucking         42,227.50           Trucking         Inc □   Tigerrou Lumber         Inc □   Tigerrou Lumber         Inc □   Tigerrou Lumber         Inc □   Tigerrou Lumber         Country Forest Products         Inc □   NORTHWEST HARDWOO           7 120.000         840.00         10-P         7 200.000         1,400.00         10-P         7 120.000         840.00         10-P         7 150.000           20.5 260.000         5,330.00         10-P         7 200.000         4,612.50         10-P         7 120.000         840.00         10-P         7 150.000           57.5 37.000         19,377.50         10-OR         57.5 450.000         25,875.00         10-OR         57.5 410.000         23,575.00         10-OR         57.5 325.000           20 11.000         220.00         20T-P         20 17.000         340.00         20T-P         20 13.000         260.00         20T-P         20 16.000           350 11.000         3,850.00         20T-M         350 19.000         6,650.00         20T-M         350.00         29T-M         350 0.00         20T-M         350.00         20T-M         350.00         20T-M         350.00         20T-M         350.00         20T-M         350.00</td></t<><td>Hoc   Inc   Inc  </td></td>	7 120.000         840.00         10-P         7 200.000         1,400.00         10-P         7 120.000         840.00         10-P         7 150.000           20.5 260.000         5,330.00         10-O         20.5 225.000         4,612.50         10-O         20.5 205.000         4,202.50         10-O         20.5 235.000           57.5 37.000         19,377.50         10-OR         57.5 450.000         25,875.00         10-OR         57.5 410.000         23,575.00         10-OR         57.5 325.000           20 11.000         220.00         20T-P         20 17.000         340.00         20T-P         20 13.000         260.00         20T-P         20 16.000           350 11.000         3,850.00         20T-M         350 19.000         6,650.00         20T-M         350 13.000         20T-M <t< td=""><td>100         TIGERTON LUMBER         Inc □         Country Forest Products         Inc □         NORTHWEST HARDWOO           120.000         840.00         10-P         7 200.000         1,400.00         10-P         7 120.000         840.00         10-P         7 150.000           260.000         5,330.00         10-O         20.5 225.000         4,612.50         10-O         20.5 205.000         4,202.50         10-O         20.5 235.000           337.000         19,377.50         10-OR         57.5 450.000         25,875.00         10-OR         57.5 410.000         23,575.00         10-OR         57.5 325.000           11.000         220.00         20T-P         20         17.000         340.00         20T-P         20         13.000         260.00         20T-P         20         16.000           11.000         3,850.00         20T-M         350         19.000         6,650.00         20T-M         350         13.000         20T-M         350         13.000           24.000         6,240.00         15T-O         260         38.000         9,880.00         15T-O         260         1,500.0         20T-O         500         7.000           25.000         1,750.00         15T-A         70</td><td>Krizan Trucking         42,227.50           Trucking         Inc □   Tigerrou Lumber         Inc □   Tigerrou Lumber         Inc □   Tigerrou Lumber         Inc □   Tigerrou Lumber         Country Forest Products         Inc □   NORTHWEST HARDWOO           7 120.000         840.00         10-P         7 200.000         1,400.00         10-P         7 120.000         840.00         10-P         7 150.000           20.5 260.000         5,330.00         10-P         7 200.000         4,612.50         10-P         7 120.000         840.00         10-P         7 150.000           57.5 37.000         19,377.50         10-OR         57.5 450.000         25,875.00         10-OR         57.5 410.000         23,575.00         10-OR         57.5 325.000           20 11.000         220.00         20T-P         20 17.000         340.00         20T-P         20 13.000         260.00         20T-P         20 16.000           350 11.000         3,850.00         20T-M         350 19.000         6,650.00         20T-M         350.00         29T-M         350 0.00         20T-M         350.00         20T-M         350.00         20T-M         350.00         20T-M         350.00         20T-M         350.00</td></t<> <td>Hoc   Inc   Inc  </td>	100         TIGERTON LUMBER         Inc □         Country Forest Products         Inc □         NORTHWEST HARDWOO           120.000         840.00         10-P         7 200.000         1,400.00         10-P         7 120.000         840.00         10-P         7 150.000           260.000         5,330.00         10-O         20.5 225.000         4,612.50         10-O         20.5 205.000         4,202.50         10-O         20.5 235.000           337.000         19,377.50         10-OR         57.5 450.000         25,875.00         10-OR         57.5 410.000         23,575.00         10-OR         57.5 325.000           11.000         220.00         20T-P         20         17.000         340.00         20T-P         20         13.000         260.00         20T-P         20         16.000           11.000         3,850.00         20T-M         350         19.000         6,650.00         20T-M         350         13.000         20T-M         350         13.000           24.000         6,240.00         15T-O         260         38.000         9,880.00         15T-O         260         1,500.0         20T-O         500         7.000           25.000         1,750.00         15T-A         70	Krizan Trucking         42,227.50           Trucking         Inc □   Tigerrou Lumber         Inc □   Tigerrou Lumber         Inc □   Tigerrou Lumber         Inc □   Tigerrou Lumber         Country Forest Products         Inc □   NORTHWEST HARDWOO           7 120.000         840.00         10-P         7 200.000         1,400.00         10-P         7 120.000         840.00         10-P         7 150.000           20.5 260.000         5,330.00         10-P         7 200.000         4,612.50         10-P         7 120.000         840.00         10-P         7 150.000           57.5 37.000         19,377.50         10-OR         57.5 450.000         25,875.00         10-OR         57.5 410.000         23,575.00         10-OR         57.5 325.000           20 11.000         220.00         20T-P         20 17.000         340.00         20T-P         20 13.000         260.00         20T-P         20 16.000           350 11.000         3,850.00         20T-M         350 19.000         6,650.00         20T-M         350.00         29T-M         350 0.00         20T-M         350.00         20T-M         350.00         20T-M         350.00         20T-M         350.00         20T-M         350.00	Hoc   Inc   Inc



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456







FSC 100%

### **Bid Comparison Report**

Tract:

Jelinek Trucking Inc. peter kron

peter kron

21,200.00	Bid Total:	Bid		28,616.50	Bid Total:	Bid
2,300.00	230 10.000	230	20T-O	2,300.00	10.000	
1,540.00	22.000	70	15T-O	1,750.00	25.000	70
300.00	10.000	30	20T-M	450.00	15.000	30
9,900.00	22.000	450	20T-P	16,096.50	35.770	
1,760.00	80 22.000	80	20T-P	2,320.00	29.000	80
4,680.00	180.000	26	10-00	4,940.00	6 190.000	26
540.00	3 180.000	ω	10-0	570.00	3 190.000	ω
180.00	1 180.000	_	10-MR	190.00	1 190.000	_
Inc	Inc.	rucking	Jelinek Trucking Inc.	Inc		

10-00 20T-P

100 10-MR

20T-O 15T-O 20T-M 20T-P

21,200.00 28,616.50



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456







#SCS-FM/COC-083G-d FSC 100%

## **Bid Comparison Report**

Tract: 33-13

DI TORO of Drodings

Inc B		
3 & M LOGGING	B & M LOGGI	Lambert Forest
Inc	NG	St Products

20T-O

15T-O

220

22.690

8.050

20T-O

750 220

9.270 9.270

6,952.50 2,039.40 9,501.90

15T-O

20T-A 15T-A

28.480

1,139.20 6,037.50 4,991.80

15T-A

16.670

666.80

7.510

1,276.70

20T-A

170 16.670

2,833.90

Bid Total:

49,651.80

Bid Total:

51,904.20

20T-M

11.890 23.550 28.770

6,777.30

20T-M

570

15T-H 20T-P 20T-P

780

22,440.60

20T-P 20T-P

780

23.470

18,306.60 8,683.90

942.00

15T-H

40

16.670 16.670

666.80

22.430

8,299.10

370 23.470

Lambert Forest Products

49,651.80 51,904.20 V



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456







### #SCS-FM/CC FSC 100%

## **Bid Comparison Report**

Tract: **36-13** 

Dainyland Forget Drod	Northwest Hardwoods Inc.	Country Forest Products	Theodore Strzok Logging	Tigerton Lumber	I win Forest Products, LLC
39 290 00	42,500.00	43,705.00	46,413.15	46,755.00	62,083.75 <b>&lt;</b>

			!							00.00	I			
б	Strzok Logging	Inc	Northwest	Northwest Hardwoods Inc.	Inc	Country F	Inc Country Forest Products	Inc	Dairyland	Inc Dairyland Forest Prod.		Inc Tigerton Lumber	umber	Inc
10-MR	3 350.000	1,050.00	10-MR	3 245.000	735.00	10-MR	3 299.000	897.00	10-MR	3 250.000	750.00	10-MR	3 200.000	600.00
10-0			10-0	18 280.000	5,040.00	10-0	18 299.000	5,382.00	10-0	18 300.000	5,400.00	10-0	18 250.000	4,500.0
10-OR			10-OR	54 475.000	25,650.00	10-OR	54 499.000	26,946.00	10-OR	54 375.000	20,250.00	10-OR	54 475.000	25,650.C
20T-M	140 17.910	2,507.40	20T-M	140 15.000	2,100.00	20T-M	140 12.000		20T-M	140 16.000	2,240.00	20T-M	140 17.000	2,380.0
151-0			15T-0	250 26.000	6,500.00	15T-O	250 22.000		15T-0	250 25.000	6,250.00	15T-O	250 38.000	9,500.0
20T-O	275 15.630	4,298.25	20T-O	275 9.000	2,475.00	20T-O	275 12.000	3,300.00	20T-O	275 16.000	4,400.00	20T-O	275 15.000	4,125.00
	Bid Total:	46,413.15		Bid Total:	42,500.00		Bid Total:	43,705.00		Bid Total:	39,290.00		Bid Total:	46,755.00
Twin Fores	Twin Forest Products, LLC	Inc												

10-MR

3 450.000 18 450.000

1,350.00 8,100.00 33,480.00

54 620.000

10-OR 20T-M 15T-O 20T-O

140 17.000250 60.000275 6.450

15,000.00 1,773.75

2,380.00

Bid Total:

62,083.75

20T-M 15T-H 10-00 10-OR 10-0 10-MR 10-P

> 60 125 239.290

13 302.340

3,930.42 1,814.04 5,967.60

29,911.25

10-00 10-OR 10-0

125 280.000

35,000.00

13 310.000

4,030.00

1,680.00 5,600.00

1,092.00

15T-H

60

25.000 11.000

1,500.00

20 298.380 3 140.960

422.88

10-P

3 120.000

360.00

10-MR

20 280.000 6 280.000

6 302.340

20T-O 15T-0

> 18.200 10.900 18.200

> > 3,815.00

20T-M

5.130

4,770.90 1,820.00

20T-O 15T-0

930 9 350

8.000

7,440.00 2,500.00

25.000

3,850.00

Bid Total:

62,170.00

210.00

77.10

Bid Total:

# FORESTRY and PARKS DEPARTMEN:



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 









### 54456

### **Bid Comparison Report**

Tract: **37-13** 

NORTHWEST HARDWOODS INC. Martin's Forestry Country Forest Products Krizan Trucking Tlusty Logging, Inc. 67,185.00 **✓** 62,170.00 □ 51,260.00 53,621.19 56,745.00

								Inc	cking	Krizan Trucking	Inc	restry	Martin's Forestry
		40,752.70	Bid Total:	B.	51,260.00	Bid Total:		56,745.00	Bid Total:		43,733.60	Bid Total:	
	20T-A	265.80	8.860		360.00 2	30 12.000	20T-A	450.00	30 15.000	20T-A	300.00	30 10.000	20T-A
	20T-O	6,937.80	7.460		6,510.00 2	930 7.000	20T-O	8,835.00	930 9.500	20T-O	7,774.80	930 8.360	20T-O
	15T-O	2,331.00	23.310		2,500.00 1	100 25.000	15T-O	1,600.00	100 16.000	15T-O	836.00	100 8.360	15T-O
	20T-M	3,279.50	9.370			350 12.000	20T-M	5,600.00	350 16.000	20T-M	3,353.00	350 9.580	20T-M
	15T-H	1,398.60	60 23.310	15T-H 6	J	60 25.000	15T-H	960.00	60 16.000	15T-H	574.80	60 9.580	15T-H
	10-00	18,750.00	5 150.000			125 200.000		28,125.00	125 225.000	10-00	N	125 185.000	10-00
13 350.000	10-OR	3,380.00	3 260.000		4,550.00 1	13 350.000		4,225.00	13 325.000	10-OR		13 185.000	10-OR
	10-0	960.00	5 160.000		1,050.00 1	6 175.000		1,500.00	6 250.000	10-0		6 185.000	10-0
	10-MR	3,000.00	150.000		5,200.00 1	20 260.000	10-MR	5,000.00	20 250.000	10-MR	3,700.00	20 185.000	10-MR
	10-P	450.00	3 150.000	10-P	390.00 1	3 130.000	10-P	450.00	3 150.000	10-P	555.00	3 185.000	10-P
(0	Tlusty Logging, Inc.	Inc	t Products	Inc   Lambert Forest Products	الد 🗌 DS	Inc NORTHWEST HARDWOODS	NORTHW	Inc	Country Forest Products	Country Fo	Inc	Strzok Logging	Theodore
			40,752.70	4(			ts	st Produc	Lambert Forest Products	Lan			
		Ē	43,733.60	4.			ng	zok Loggi	I heodore Strzok Logging	Ihe			



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456







### #SCS-FM/COC-083G-d FSC 100%

## **Bid Comparison Report**

Tract: **38-13** 

Inc	10,483.00	335.50	852.50	8,875.00	420.00	Inc						
		20T-O	15T-O	10-OR	10-0	Inc Leer Forest Products	Rus	Ma	The	Lee	Col	Tig
	Bid Total:	55 6.500	55 15.000	25 475.000	2 275.000	st Products	Russ Thums	Martin's Forestry	Theodore Strzok Logging	Leer Forest Products	Country Forest Products	Tigerton Lumber
	13,607.50	357.50	825.00	11,875.00	550.00	Inc		šty	zok Loggi	roducts	st Produc	ber
		20T-O	15T-0	10-OR	10-0	Inc Martin's Forestry			ng		Ś	
	Bid Total:	55 4.500	55 24.680	25 412.050	2 337.050	orestry						
	12,580.25	247.50	1,357.40	10,301.25	674.10	Inc						
		20T-O	15T-O	10-OR	10-0	Inc Tigerton Lumber						
	Bid Total:	55 10.000	55 38.000	25 465.000	2 200.000	_umber	10,483.00	12,580.25	13,295.00	13,607.50	13,950.00	14,665.00
	14,665.00	550.00	2,090.00	11,625.00	400.00	Inc						<
		20T-O	15T-O	10-OR	10-0	Country F						
	Bid Total:	55 10.000	55 23.000	25 467.000	2 230.000	Inc Country Forest Products		•0				

Russ Thums

10-0

2 210.000 25 355.000

10-OR 15T-O

55 15.500

20T-O

6.100

Bid Total: 55

13,950.00

11,675.00 1,265.00 550.00

460.00 Inc

10-OR

25 475.000

11,875.00 650.00

15T-O

55

7.000

10-0

2 325.000

Theodore Strzok Logging

20T-O

Bid Total: 55 7.000

13,295.00

385.00 385.00 20T-A 20T-O 20T-M 15T-H 10-OR 10-0 10-MR

135 12.440 Bid Total:

26,405.80 1,679.40 5.490

1,427.40

20T-O 20T-M 15T-H 10-OR 10-0 10-MR

260 680 270

8.000

15.000 30.000

10,200.00

8,100.00 3,850.00 1,575.00

135 16.000 Bid Total:

> 2,160.00 2,080.00

33,725.00

680 13.240 270 17.040

9,003.20 4,600.80 3,575.00

11 325.000

11 350.000

24 180.000 9 200.000

4,320.00

24 240.000 9 175.000

5,760.00

1,800.00

# FORESTRY and PARKS DEPARTMENT



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456







#SCS-FM/COC-083G-d FSC 100%

## **Bid Comparison Report**

Tract: **39-13** 

Dairyland Forest Prod. Tlusty Logging, Inc. 36,535.00 43,236.00

									Inc _	Northwest Hardwoods Inc.	Northwest	Inc	ms	Russ Thums
27,169.25	Bid Total:		36,535.00	Bid Total:	TI I	33,165.00	Bid Total:		43,236.00	Bid Total:		24,116.90	Bid Total:	
1,799.55	135 13.330	20T-A	2,430.00	135 18.000		2,025.00	135 15.000	20T-A	2,160.00	135 16.000	20T-A	1,150.20	135 8.520	20T-A
2,646.80	260 10.180		4,680.00	18.000	20T-O 260	2,340.00	260 9.000	20T-O	4,446.00	260 17.100	20T-O	1,890.20	260 7.270	20T-O
8,867.20	680 13.040		12,240.00	30 18.000		10,880.00	680 16.000	20T-M	14,960.00	680 22.000	20T-M	6,371.60	680 9.370	20T-M
6,455.70	270 23.910		4,860.00	70 18.000		4,320.00	270 16.000	15T-H	7,830.00	270 29.000	15T-H	7,524.90	270 27.870	15T-H
2,915.00	11 265.000	10-OR	_	11 350.000		4,345.00	11 395.000	10-OR	3,850.00	11 350.000	10-OR	2,860.00	11 260.000	10-OR
1,485.00	9 165.000	10-0	2,475.00	9 275.000		2,655.00	9 295.000	10-0	3,150.00	9 350.000	10-0	1,440.00	9 160.000	10-0
3,000.00	24 125.000	10-MR	6,000.00	24 250.000	10-MR 2	6,600.00	24 275.000	10-MR	6,840.00	24 285.000	10-MR	2,880.00	24 120.000	10-MR
Inc	lis	Inc Frank Gurklis	Inc	est Prod.	Dairyland Forest Prod.	Inc	Inc Country Forest Products	Country Fo	Inc	ging, Inc.	Inc Tlusty Logging, Inc.	Inc	Lambert Forest Products	Lambert F
				24,116.90	2			ţs	st Produc	Lambert Forest Products	Lar			
				26,405.80	2					Russ Thums	Ru			
				27,169.25	2					Frank Gurklis	Fre			
			Ō	33,165.00	ယ			S	t Product	Country Forest Products	င္ပ			
			Ō	33,725.00	ω			nc.	dwoods	Northwest Hardwoods Inc.	No			
			[	00,000.00							,			



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456







The mark of majorative states of the mark of the mark of the majorative states of the majorative

### 56

## **Bid Comparison Report**

Tract: 40-13

Jelinek Trucking Inc	Jelinek Trucking Inc.	Bergman Logging
no.	Inc.	Q

_ogging	g	Inc	Inc Jelinek Trucking Inc.	ucking	Inc.	Inc
20	15.000	300.00	20T-P	20	29.080	581.60
40	15.000	600.00	20T-P	40	29.080	1,163.20
760	32.550	24,738.00	20T-P	760	29.080	22,100.80

Bergman Logging

20T-P 20T-P 20T-P

Bid Total:

25,638.00

Bid Total:

23,845.60

25,638.00 **✓** 23,845.60 □



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456







## **Bid Comparison Report**

Tract: **41-13** 

*			20T-P	Bergma					
		Bid Total:	1950 32.280	Bergman Logging					
		62,946.00	62,946.00	Inc					
	2		20T-P	Inc B & M Logging	[e	В	В	≤	⊒
		Bid -	1950	ogging	ımber	⊗ M L	ergma	iitala	usty L
		Bid Total:	31.670		t Fore	B & M Logging	Bergman Logging	Wiitala Vozka Log	Tlusty Logging, Inc
		61,756.50	20T-P 1950 31.670 61,756.50 20T-P 1950 34.750	Inc	Lambert Forest Products	Q	ging	Log	g, Inc.
			20T-P	Inc Tlusty Logging, Inc.	Š				
		Bid .	1950	ogging, I					
	*	Bid Total:	34.750	nc.	34				
		67,762.50	67,762.50 20T-P 1950 31.000	Inc					
			20T-P	Inc Lambert Forest Products					
		Bid Total:	1950	Forest P	60,2	61,7	62,9	63,5	67,7
		otal:	31.000	roducts	60,450.00	61,756.50	62,946.00	63,570.00	67,762.50
		60,450.00	60,450.00 20T-P	Inc					<
			20T-P	Wiitala \					
		Bid To	1950 3	Inc Wiitala Vozka Log					

1950 32.600 Bid Total:

63,570.00 63,570.00 Inc



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456







FSC 100%

### **Bid Comparison Report** Tract: **42-13**

B & M Logging 20T-P 1390 Bio		Wiitala Vozka Log 20T-P 1390 3	
9ging 1390 29.670 Bid Total:	Bid Total:	ozka Log 1390 36.950	
<b>4</b> 41 ,2		51,3	
Bergman Logging 20T-P 1390 : Bid T		Biewer WI Sawmill 20T-P 1390 3	Bie Wiii Ber Pet Dai B &
Logging 1390 36.130 Bid Total:	Bid Total:	/I Sawmill 1390 38.560	Biewer WI Sawmill Wiitala Vozka Log Bergman Logging peter kron Dairyland Forest PB & M Logging Lambert Forest Procest
al:	<u> </u>	.560	I Sav Dzka Logg Logg Fore gging
Inc 50,220.70	53,598.40	Inc 53,598.40	Biewer WI Sawmill Wiitala Vozka Log Bergman Logging peter kron Dairyland Forest Prod. B & M Logging Lambert Forest Products
		Inc peter kron 598.40 20T-P	ି ଓ 
	Bid	n 1390	
	Bid Total:	1390 35.740	
	49,678.60	Inc 49,678.60	
		Lambert Forest Products 20T-P 1390 29.400	
	Bid	Forest I	53, 50, 50, 41, 41,
	Bid Total:	t Forest Products 1390 29.400	53,598.40 S 51,360.50 S 50,220.70 S 49,678.60 S 41,700.00 S 41,241.30 S 40,866.00 S
ži	40,866.00	Inc	
		Dairyland Forest Prod.	
	Bid	d Fores	
	Bid Total:	1390 30,000	
	41,700.00	Inc	

20T-O 151-0 20T-M 20T-B 15T-H

21.150

3.150

1,181.25 3,384.00

20T-O 15T-0 20T-M 20T-B 15T-H 20T-P 10-OR 10-0

Bid Total:

12.440

2,239.20 2,040.00 2,320.00

5.440

## FORESTRY and PARKS DEPARTMEN



517 COURT STREET, ROOM 103 CLARK COUNTY COURTHOUSE **NEILLSVILLE, WISCONSIN** 54456





FSC 100%

#SCS-FM/COC-083G-d



### **Bid Comparison Report**

Country Forest Products Northwest Hardwoods Inc. Theodore Strzok Logging Tigerton Lumber Tract: 43-13

30,515.25 29,256.00

31,272.45 31,650.00 35,977.50 42,920.00 **~** 

Theodore Strzok Loggir

Russ Thums Frank Gurklis

orestry	Bid Total:	180	375	160	625	40	115	30	8 2	30 2	15 2	Ω	Strzok Loggin		
			9.450	9.450	10.830	11.300	10.830	11.550	65.000	30 265.000	15 265.000	5 265.000	Logging	GI.	
Inc	31,272.45	2,034.00	3,543.75	1,512.00	6,768.75	452.00	1,245.45	346.50	2,120.00	7,950.00	3,975.00	1,325.00	Inc		
Russ Thums		20T-A	20T-O	15T-0	20T-M	20T-B	15T-H	20T-P	10-OR	10-0	10-MR	10-P	Northwest Hardwoods Inc	Ma	
ms	Bid 7	180	375	160	625	40	115	30	00	30 '	15 2	O1	Hardw	rtin's	
	Bid Total:	15.000	8.000	25.500	15.000	5.000	30.500	18.000	375.000	30 175.000		5 175.000	oods Inc.	Martin's Forestry	
Inc	35,977.50	2,700.00	3,000.00	4,080.00	9,375.00	200.00	3,507.50	540.00	3,000.00	5,250.00	3,450.00	875.00	Inc _	ΞŽ	
		20T-A	20T-O	15T-0	20T-M	20T-B	15T-H	20T-P	10-OR	10-0	10-MR	10-P	Country Forest Products		
	Bid .	180	375	160	625	40	115	30	00	30	15	(J)	orest P		
	Bid Total:		8.000	15.000	14.000	4.000	15.000	15.000	125.000	30 195.000	195.000	5 130.000	roducts		
	31,650.00	2,340.00	3,000.00	2,400.00	8,750.00	160.00	1,725.00	450.00	3,400.00	5,850.00	2,925.00	650.00	Inc _		
		20T-A	20T-O	15T-O	20T-M	20T-B	15T-H	20T-P	10-OR	10-0	10-MR	10-P	Tigerton Lumber		
	Bid 7		375	160	625	40	115	3	00	30 2		ڻ ن	.umber	24,0	
	Total:	12.000	15.000	35.000	18.000	4.000	35.000	5.000	000.000	225.000	25.000	125.000		1,697.04	CONTRACTOR OF THE PROPERTY OF
	42,920.00	2,160.00	5,625.00	5,600.00	11,250.00	160.00	4,025.00	150.00	3,200.00	6,750.00	3,375.00	625.00	Inc		
		20T-A	20T-O	15T-0	20T-M	20T-B	15T-H	20T-P	10-OR	10-0	10-MR	10-P	Frank Gurklis		
	Bid -	180	375	160	625	40	115	30	00	30	15	(Ji	rklis		
	Bid Total:	13.330	10.180	20.000	13.040	5.000	23.910	14.290	265.000	30 165.000	125.000	125.000			

2,749.65

200.00

428.70

4,950.00 2,120.00

1,875.00

625.00 Inc

8,150.00

2,399.40 3,817.50 3,200.00

30,515.25

Martin's Forestry

20T-A 20T-O **15T-0** 20T-M 20T-B 15T-H 20T-P 10-OR 10-0 10-MR 10-P

20T-P

10.560

316.80

21.150

2,432.25

115

19.560

2,249.40

30

17.330

519.90

30 200.000 15 200.000

6,000.00

3,000.00

8 325.000

2,600.00

40

2.500

100.00

2.670

106.80

5.600

3,500.00

625

12.140 14.500

7,587.50

160

10-OR 100 10-MR 10-P

8 239.330

1,914.64 7,179.90 3,589.95

30 239.330

15 239.330

5 124.330

621.65

10-P 10-MR

5 120.000

600.00



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456









## **Bid Comparison Report**

Tract: **44-13** 

Lambert Forest Products

peter kron

•	
	Me
	Itin
1	S
•	익
	est
	Ż
•	

peter kron			Inc	Inc Ambert Forest Products	orest F	roducts	Inc	Inc Martin's Forestr	orestry		Inc
20T-M	20	12.000	240.00		20		399.00	20T-M	20	9.070	181.40
20T-P	160	22.170	3,547.20	20T-P	160		3,192.00	20T-P	160	19.700	3,152.00
20T-P	525	5 22.170	11,639.25		525		10,473.75 20T-P	20T-P	525	525 19.700	10,342.50
0	Bid	Bid Total:	15,426.45	N St	Bid	Bid Total:	14,064.75		Bid .	Bid Total:	13,675.90
								ŭ.			,

ī		
1		
1		

13,675.90



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN









### 54456

## **Bid Comparison Report**

Tract: **45-13** 

Wiitala Vozka Log 20T-P 2290 39.100 Bid Total:	Bio lotal:	20T-P 2290 0.000	Martin's Forestry						
Inc	0.00	0.00	Inc <						
		0.00 20T-P 2290 41.250	Inc  Bergman Logging	M	La	>	Be	Bi	Be
	Bid Total:	2290 4	Logging	Martin's Forestry	mbert	Wiitala Vozka Log	Bell Timber	Biewer WI Sawmill	Bergman Logging
				orestr	Forest	ozka L	er	/I Saw	Loggi
	94,462.50		Inc	Q	Lambert Forest Products	-og		mill	ng
	<	20T-P	Lambert		ts				
	Bid Total:	20T-P 2290 35.450	Lambert Forest Products						
			ducts						
-	81,180.50	81,180.50	Inc						
251		20T-P	Bell Timber						
	Bid Total:	20T-P 2290 39.750	ber		81,1	89,5	91,0	91,5	94,4
				0.00	81,180.50	89,539.00	91,027.50	91,554.20	94,462.50
*	91,027.50	91,027.50 20T-P	Inc						<
			Biewer V						W
	Bid Total:	2290 39.980	Biewer WI Sawmill						

91,554.20 91,554.20 Inc 20T-M

14.340

15,200.40

12.000

9,600.00

15T-H 20T-P 10-OR

14.340

2,724.60

20T-O 15T-O

1370

12.000

16,440.00

645.30

Bid Total:

221,145.30

10-0

135 338.000

165 415.000

24.900

52,290.00 68,475.00 45,630.00 10,140.00

10-MX

30 338.000

Theodore Strzok Logging

Bid Total:

185,136.10

Bid Total:

Inc

20T-A 20T-O 15T-0 20T-M 15T-H 20T-P 10-OR 10-0 10-MX

8.660 8.990

389.70

20T-A

1370

12,316.30 19,352.00 12,179.40

20T-O 151-0 20T-M 15T-H 20T-P

1370 800

16.500 16.500

16.500

24.190

2100

25.620

53,802.00

2100

20.000

135 200.000

10-0 10-MX

30 170.000

5,100.00

Inc

Dairyland Forest Prod.

30 250.000

165 300.000

49,500.00 27,000.00

10-OR

165 350.000 135 275.000

1060

11.490

1060

16.500

190

16.500

28.930

5,496.70

# FORESTRY and PARKS DEPARTMEN



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456







### FSC 100% #SCS-FM/COC-083G-d

### **Bid Comparison Report**

Tract: 46-13

Northwest Hardwood Country Forest Prod Dairyland Forest Pro Lambert Forest Prod Theodore Strzok Logging Tigerton Lumber 221,145.30

Bid Total:	Bid 1		218,345.00	Bid Total:	Bid		204,325.00	Bid Total:	Bid		201,547.50
12.000	45	20T-A	630.00	14.000	45	20T-A	315.00	7.000	45	20T-A	742.50
7.000	1370	20T-O	19,180.00	14.000	1370	20T-O	16,440.00	1370 12.000	1370	20T-O	22,605.00
25.000	800	15T-O	11,200.00	14.000	800	15T-O	25,600.00	32.000	800	15T-O	13,200.00
12.000	1060	20T-M	19,080.00	18.000	1060	20T-M	20,140.00	19.000	1060	20T-M	17,490.00
25.000	190	15T-H	3,420.00	18.000	190	15T-H	6,080.00	32.000	190	15T-H	3,135.00
21.000	2100	20T-P	46,200.00	22.000	2100	20T-P	52,500.00	2100 25.000	2100	20T-P	42,000.00
165 364.000	165 3	10-OR	73,260.00	165 444.000	165	10-OR	49,500.00	165 300.000	165	10-OR	57,750.00
135 175.000	135	10-0	37,125.00	135 275.000	135	10-0	27,000.00	135 200.000	135	10-0	37,125.00
30 225.000	30 2	10-MX	8,250.00	30 275.000	30	10-MX	6,750.00	30 225.000	30	10-MX	7,500.00
oods Inc.	t Hardw	Northwest Hardwoods Inc.	Inc	roducts	Forest F	Country Forest Products	Inc	7	Lumber	Inc Tigerton Lumber	Inc
				182,135.00	182,					Inc.	rdwoods Inc.
				185,136.10	185,					ĬŚ	st Products
				201,547.50	201,			v			est Prod.
				204,325.00	204,		2				ber
				218,345.00	218,					ß	st Products
				1,110.00	1111					ď	- C. L. C. S. C. S.

44,100.00 60,060.00 23,625.00

6,750.00

Inc

20,000.00

9,590.00

12,720.00

4,750.00

540.00

182,135.00

Lambert Forest Products



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN







#SCS-FM/COC-083G-d FSC 100%

### 54456

## **Bid Comparison Report**

Tract: **47-13** 

20T-P 2363 33.330 Bid Total:	B & M Logging				
78,758.80 <b>78,758.80</b>	Inc _				
78,758.80 20T-P 2363 39.500 93 78,758.80 Bid Total: 93	Bergman Logging	Lambert Forest Products	B & M Logging	Martin's Forestry	Bergman Logging Biewer WI Sawmill
93,338.50 20T-P 2363 29.650 93,338.50 Bid Total:	Inc Lambert Forest Products	Products			n <u>ill</u>
363 29.650 70,062.95 Bid Total: <b>70.062.95</b>	st Products Inc				
20T-P 2363 35.320 Bid Total:	Martin's Forestry	70,062.95	78,758.80	83,461.16	93,338.50 <b>☑</b> 92,416.93 □
83,461.16 20T-P 2363 39.110	Inc Biewer WI Sawmill				

92,416.93 92,416.93 Inc



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN







#SCS-FM/COC-083G-d FSC 100% The mark of responsible forestry

### 54456

**Bid Comparison Report** Tract: **48-13** 

Theodore Strzok Logging

10-P

10-MR

900.00 540.00 Inc

10-0

20T-M

15T-A 20T-O 15T-0

12.600 10.540 10.540 12.600 12.600 12.880

252.00 630.00

Bid Total:

660 740 50

6,956.40 5,418.00

7,799.60

20T-P

10-00

32 180.000 12 180.000 5 180.000 3 180.000

5,760.00 2,160.00

515.20 630.00

15T-H

50

Theodore Strzok Logging

31,561.20 🗸



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456







#SCS-FM/COC-083G-d FSC 100%

### **Bid Comparison Report**

Bergman Logging 49-13

Tract:

			Lan	Lambert Forest Products	Produc:	ß
Bergman Logging	gging	Inc	Lambert Fo	Inc Ambert Forest Products	Inc _	
10-MR	1 120.000	120.00 10-MR	10-MR	1 160.000	160.00	
10-0	1.3 160.000	208.00 10-0	10-0	1.3 160,000	208.00	

6.2 260.000

38.930

20T-O 15T-O 20T-M 20T-P 20T-P 10-OR 10-0 10-MR

60 10.000

600.00 800.00 480.00

20T-0 15T-0 20T-M 20T-P 20T-P 10-OR

23.790 8.190

8.320

332.80

78,085.00

Bid Total: 60

63,794.00

491.40 951.60 12.000 40.000

> 54,800.00 19,465.00 1,612.00

1370 500

46,388.20 13,650.00 6.2 260.000

1,612.00

27.300 33.860

20.000

63,794.00 78,085.00 **✓** 



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN** 54456







#SCS-FM/COC-083G-d FSC 100%

### **Bid Comparison Report**

Tract: 50-13

Inc	
Ule Logging	DeBoth
	Bros.
Inc	Logging

DeBoth Bros. Logging

10-MR

1 120.000

10-MR

10-OR

20T-O

20T-M 15T-H

12,624.00 1,472.80

1200 18.000 140 18.000

21,600.00

20T-A 15T-A

1780 10.520

10.520 10.520 10.520 10.520

946.80

15T-A 20T-O 20T-M 15T-H 20T-P 10-OR

90

18.000

1,620.00

2,520.00

20T-A

1780 18.000

Bid Total:

61,790.00 32,040.00

Bid Total:

36,480.80 18,725.60 20T-P

100 11.000 2.5 260.000

1,100.00

100 18.000

1,800.00

2.5 260.000

650.00 120.00

1 120.000

80

18.000

1,440.00

650.00 120.00

841.60

<b>=</b>		
ogging	DeBoth Bros. L	Ule Logging
<u> </u>	Logging	
	I	

61,790.00 **<** 36,480.80

Page 1 of 1



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456







The mark of responsible forestry #SCS-FM/COC-083G-d FSC 100%

Bid Comparison Report
Tract: 51-13

Tlusty Logging, Inc.

Tlusty Logging, Inc.

430 25.750

11,072.50

Inc

5,100.00 7,050.00

15T-O 10-O 10-OO 20T-M 20T-O

15.100

14,668.50 14,194.00

770 19.050

20 255.000 30 235.000

15T-A 20T-A

20.000 12.000

600.00 960.00 **53,645.00** 

Bid Total:

53,645.00



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456







## **Bid Comparison Report**

Tract: **52-13** 

	Bid Total:	950 35.240	40 29.680	n Logging						
0	34,665.20	33,478.00	1,187.20	Inc						
		20T-P	20T-P	Inc Jelinek Trucking Inc.	Je	Be	B:	Pe	V	
	Bid .	950	40	rucking	inek	rgma	ewer	Peter Kron	itala	
	Bid Total:	950 30.080	40 30.080	Inc.	Trucki	Bergman Logging	Biewer WI Sawmil	ron	Wiitala Vozka Log	
	29,779.20	28,576.00	1,203.20	Inc	Jelinek Trucking Inc.	ging	wmill		Log	
		20T-P	20T-P	Inc Peter Kror						
	Bid	950	40	ă						
	Bid Total:	950 38.840	20.000		10					
	37,698.00	36,898.00	800.00	Inc _						
		20T-P	20T-P	Inc Wiitala Vozka Log						
	Bid	950	40	ozka Lc	29,	34,	35,	37,	38,	
	Bid Total:	950 39.100	40 26.000	Õ	29,779.20	34,665.20	35,882.50	37,698.00	38,185.00	
	38.185.00	37,145.00	1,040.00	Inc _					<u>S</u>	
		20T-P	20T-P	Inc Biewer WI Sawmill						
	Bid Tota	950 37.3	40 10.	/I Sawn						
	Total	37.3	10.0	ii						

40 10.000 950 37.350 Bid Total:

35,882.50 35,482.50 400.00 Inc

Bergman Logging

20T-P 20T-P

	PAR
1	1
#SC FSC	

90 90 90 90 90	
The mark responsible to FM/CO(	FSC cools
‰ <sub>try</sub> C-083G-d	8 2 ( )

 Tayo	7
	1
	_



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456







## **Bid Comparison Report**

Tract: **53-13** 

B & M Logging Bergman Logging Wiitala Vozka Log

62,082.77	Bid Total:	Bid .		60,771.00	Bid Total:	Bid		63,191.90	Total:	Bid	
54,506.04	31.470	1732	20T-P	54,558.00	31.500	1732	_	56,463.20	32.600	1732	20T-P
1,199.52	19.040	63	20T-P	200	12.000	63	20T-P	1,505.70	63 23.900	63	20T-P
3,236.80	19.040		20T-P	2,550.00	15.000	170		2,584.00	15.200	170	20T-P
2,428.79	15.470		20T-A	2,355.00	15.000	157		2,041.00	13.000	157	20T-A
711.62	15.470	46	20T-M	552.00	46 12.000	46		598.00	13.000	46	20T-M
Inc	(8)	gging	B & M Logging	Inc Bergman Logging Inc	g	Loggin	Bergman	Inc	ğ	ozka Lo	Wiitala Vozka Log

	0	63	
	ĮQ O	Ĵ.	
	8	19	
	N		
	7	9	
1	7	0	

60,771.00



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456







## **Bid Comparison Report**

Tract:

54-13

Twin Forest Products, LLC Country Forest Products Northwest Hardwoods Inc. Leer Forest Products	4 N N N N N N N N N N N N N N N N N N N	78,445.80 ✓ 74,463.06 □ 64,485.40 □ 60,143.00 □
Tigerton Lumber		58,989.00
Theodore Strzok Logging		58,547.90
Tlusty Logging, Inc.		56,519.50
Dairyland Forest Prod.		48,339.50
Krizan Trucking		12 221 8U

	_																				1		
	9	20T-O	15T-O	20T-M	10-OR	10-0	10-00	10-MR	10-P	Dairyland Forest Prod.		20T-O	15T-O	20T-M	10-OR	10-0	10-00	10-MR	10-P	Theodore Strzok Logging			
	Bid Total:	300 1	360 1	10 1	70.9 35	43.5 250.000	1.9 200.000	0.06 200.000	1.58 125.000	Forest P	Bid Total:	300 15.630	360 1	10 1	70.9 45	43.5 38	1.9 35	0.06 350.000	1.58 150.000	Strzok L			
	otal:	18.000	18.000	18.000	350.000	50.000	00.000	0.000	25.000	rod.	otal:	15.630	15.630	17.910	450.000	350.000	350.000	50.000	50.000	ogging			
	48,339.50	5,400.00	6,480.00	180.00	24,815.00	10,875.00	380.00	12.00	197.50	Inc	58,547.90	4,689.00	5,626.80	179.10	31,905.00	15,225.00	665.00	21.00	237.00	Inc			
147	_	201-0	15T-0	20T-M	10-OR	10-0		10-MR	10-P			20T-0			_//855	10-0	10-00	10-MR	10-P		_	_	
	Bid	300	360	10	70.9	43.5			1.58	Krizan Trucking	Bid		360	10		43.5			1.58	Country Forest Products	(rizan	)airyla	lusty
	Bid Total:	10.000	20.000	10.000	320.000	43.5 280.000	1.9 100.000	0.06 120.000	1.58 120.000		Bid Total:	300 23.300	23.300	23.300	70.9 499.000	499.000	1.9 499.000	0.06 499.000	1.58 499.000	Products	Krizan Trucking	Dairyland Forest Prod	lusty Logging, Inc.
	45,554.80	3,000.00	7,200.00	100.00	22,688.00	12,180.00	190.00	7	189.60	Inc	74,463.06	6,990.00	8,388.00	233.00	35,379.10	21,706.50	948.10	29	788.42	Ę	ng	est Pr	g, Inc.
	.80							7.20 10	_	Ш	.06							29.94 10		Inc No		od.	
		20T-O	15T-O	20T-M	10-OR	10-0	10-00	10-MR (	10-P	in Forest			15T-O	20T-M	10-OR	10-0	10-00	10-MR	10-P	rthwest h			
	Bid Total:	300 8.	360 65.	10 2.	70.9 500.000	43.5 380.000	1.9 110.000	0.06 120.000	1.58 120.000	Twin Forest Products, LLC	Bid Total:	300 15.000	360 30.000	10 20.000	70.9 501.000	43.5 291.000	1.9 250.000	0.06 250.000	1.58 200.000	Northwest Hardwoods Inc.			
		8.800	65.000 2	2.000			000	000	000	s, LLC	02	000		000			000	000	000	s Inc.			
	78,445.80	2,640.00	23,400.00	20.00	35,450.00	16,530.00	209.00	7.20	189.60	Inc	64,485.40	4,500.00	10,800.00	200.00	35,520.90	2,658.50	475.00	15.00	316.00	Inc			
		20T-O	15T-0	20T-M	10-OR	10-0	10-00	10-MR	10-P	Leer Forest Products		20T-O	15T-0	20T-M	10-OR	10-0	10-00	10-MR	10-P	Tigerton Lumber			
	Bid		360	10	70.9	43.5	1.9	0.06	1.58	est Prod	Bid -	300	360	10	70.9	43.5	1.9	0.06	1.58	Lumber	45,	48,	56
	Bid Total:	8.000	17.500	0.000	520.000	320.000	1.9 220.000	0.000	1.58 150.000	ucts	Bid Total:	15.000	360 32.000	10.000	475.000	200.000	150.000	0.06 150.000	1.58 125.000		45,554.80	48,339.50	56,519.50
	60,143.00	2,400.00	6,300.00	0.00	36,868.00	13,920.00	418.00	0.00	237.00	Inc 🗸	58,989.00	4,500.00	11,520.00	100.00	33,677.50	8,700.00	285.00	9.00	197.50	Inc			
	(k)	37							41			20T-O	15T-O	20T-N		10-0		10-MR	10-P	Tlusty			
										2	Bio	300							1.58	Tlusty Logging, Inc.			
											Bid Total:	17.500	29.000	10 20.000	350.000	43.5 350.000	1.9 200.000	0.06 200.000	1.58 125.000	Inc.			
											56,519.50	5,250.00	10,440.00		24,815.00	15,225.00	380.00	12.00	197.50	Inc			
											0	0	0	0	0	0	0	0	0				



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456







## **Bid Comparison Report**

Tract: **55-13** 

						55,260.90	Bid Total:	Bid		82,134.50	Bid Total:	В	
						43,999.20	1680 26.190		20T-P	65,368.80	1680 38.910		20T-P
						11,261.70	430 26.190	430	20T-P	16,765.70	430 38.990		20T-P
						Inc _		B & M Logging	B&M	Inc	ging	Bergman Logging	Bergm
						. 201 S							
58,742.40	Bid Total:		51,484.00	Bid Total:		75,048.80	Bid Total:	Bid		73,256.00	Bid Total:	00	
46,771.20	1680 27.840	20T-P	40,992.00	1680 24.400	20T-P	64,075.20	1680 38.140		20T-P	62,076.00	1680 36.950		20T-P
11,971.20	430 27.840	20T-P	10,492.00	430 24.400	20T-P	10,973.60	430 25.520		20T-P	11,180.00	430 26.000		20T-P
Inc	Lambert Forest Products	Lambert I	Inc	Inc  Twin Forest Products, LLC	Twin Fore	Inc	niii	Biewer WI Sawmill	Biewer	Inc	Log	Wiitala Vozka Log	Wiitala
	51,484.00				FC	Twin Forest Products, LLC	orest P	win F	_				
	55,260.90					u	B & M Logging	& ≥					
	58,742.40				ts	Lambert Forest Products	rt Fores	.ambe	_				
	73,256.00					Log	Wiitala Vozka Log	Viitala	_				
	75,048.80					wmill	Biewer WI Sawmill	3iewer					
	79,167.20					g, Inc.	Tlusty Logging, Inc.	lusty	_				
<	82,134.50					ging	Bergman Logging	gergm.					

Tlusty Logging, Inc.

20T-P 20T-P

1680 37.520 430 37.520

63,033.60 79,167.20

16,133.60 Inc

Bid Total:



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456







### **Bid Comparison Report** Tract: **56-13**

Peter Kron

Inc. Peter Kron	Lambert Forest
Inc	<b>Products</b>

Lambert Forest Products

20T-M 20T-P 20T-P

Bid Total: 50 10.720

17,878.10

Bid Total: 50 14.000

18,827.80

700.00

760 21.410

16,271.60 1,070.50

50 22.380 760 22.380

17,008.80

1,119.00

536.00

20T-M 20T-P 20T-P

50 21.410

17,878.10 18,827.80 ✓